Quantity cgs Unit Sl Unit Note
Charge 1 cm3/2.g1/2.471 3,3356-10710 As=C Icl = number for vacuum speed
(esu) [10/c (C/esu)] of light incm/s
2,998- 107 esu 1
[c/10 (esu/C)]
Elementary charge 210 19
e 4,8033-10 esu 1,602 -10 As=C
-10

Current | 1 Cm3/2_g1/2_s—2 3,3356-10 A

[10/c esu/A]
Current densit 3,3356 -1 06
" y 1 cm1/2.g1/2.52 g , A/m?2
)= [10°/c esu/(A/m*<)]

102

Voltage U 1 cm”z-g]/z-s'1 2’9973 10 m‘z-kg-s'3-A'1 =V

[c/10° esu/V]

.104 -3A-1 2

Electric field E=U/d | 1 em™1/2.g1/2.471 2’997693 10 m-kg-s™>-A"" =

[c/10° esu/(V/m)] V/m

-10 - -

Conductivity o =j/E | 1 s 1,11310 m3.kg !-s3.A% =

[1011/¢2 esu/(S/m)] S/m

Usually use cm2/V/s
. 3,3356-1077 kg 1-s2-A =
Mobility u=v/E 1 cm3/2.q-1/2 ’ 108/c=1/300
g [1 0%/c esu/(mz/(V-s))] m2/(V-s) !

esu/(cmz/(V-s))]




